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Question Number : 1 Question Id : 4509387201 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The domain of the real valued function f(x) = VI — Va2 —144.is

Fx) = V9 = Va? — 144 8T aTQed aTO (230010 CZVEY (DDF
Options :

[—15,—12] U [12, 15]
1. ¢

(—00,—12] U [12, )



[—15,15]

[-12,12]

Question Number : 2 Question Id : 4509387202 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If set A has 5 elements. set B has 7 elements then the number of many one functions that can be

defined from Ato B 1s

A, B aDNEN JANT 5, 7 Hrosod 00 adnd) abde A &ok B §

A FAOWHON aT0E (OO oD

Options :
R

1. %

57 —5
2. ®

57 . ?PE
3. %

?5 ] ?PE
4.

Question Number : 3 Question Id : 4509387203 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
24+34+54+6+8+9+ -+ 2Znterms =
24345464849+ 4 Znaatyre =

Options :

3n? +2n
1.4

4n? + 2n

4An?

5n? + 2n

Question Number : 4 Question Id : 4509387204 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the set of equations x+42y+3z=6,x4+3y+52=92x+5y+az=D has unique

solution. then

dad

&GOB), ©))Ch

[ 8

GETO 3500 x+2y+3z=6x+3y+52=92+5y+az=b § J3F PG

Options :



a+8bER

a+ 18 b=8

Question Number : 5 Question Id : 4509387205 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If P and Q are two 3 X 3 matrices such that |PQ| =1 and |P| = 9. then the deferminant of
adjoint of the matrix P. Adj 3Q is
P 000 @ &) Toch 3 x 3 S;e8eN [PQ] = 1 HOO [P| = 9 @TH;ELY &G0T
P. Adj 30 G308). ©9:020¢) P(ed8 CR0E) AT GE

Options:

qd»
1.4

3. %



Question Number : 6 Question Id : 4509387206 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
a 1 2 7 =Lk =b
Ifz—iz[l 2 blandAdjA=|-3 9 5‘theua2+b2+c2:
¢ 3 3 1. =§ 45
a 1 2 7 =1 ~5h
=[1 2 b‘éﬁ@iﬁﬁAd}AZ 3 9 5|eonBad+bi4ct=
e 1 3 1 -3 5
Options:
10
1.+
14
2. %
11
3. %
29
4, %

Question Number : 7 Question Id : 4509387207 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If Z is a complex number such that |Z| < 3 and ? <ampZ= g, then the area of the region

formed by locus of Z 1s

7] < 3 BN 7” <ampZ zig @D DO Z O 2.8 508Y o3, LoNa Z

G0E) DOHN0 T 5T AT (T0e0 TNE) FTOFe0



Options :

O

1. ®
9
2.« -
3T

3. 8
9
_ 4

4. %

Question Number : 8 Question Id : 4509387208 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Z=1 T,
The locus of the complex number Z such that arg i) =g

Z2—1 T i =
Arg (ﬁ) =3 @05 DO Z @ H08Y Hos AE) DocHAG0.

Options :

a straight line

2,8 DB T
1. %

a circle

AIPVATINWY
2.



a parabola

205 DTICICD e

an ellipse

L 2.8 OG5

Question Number : 9 Question Id : 4509387209 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

All the values of (8/)!* are

(8113 308y Q) denden

Options :

T+ (u‘?-!— i'). —2i
1. %

++/3 +1i,— 2i
2.

+ (V3 —i),2i
3. %

a5 748 o
4. %

Question Number : 10 Question Id : 4509387210 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If a, B are the roots of the equation x> = 6x —2=0.a > f and @, = a" — ", n = 1. then the

0.10—2 g

value of is equal to

Zﬂg
@, B @) DSBS 1% — 61 — 2 = 0 TNE), AFOSVEN, a > B HOO

o

v . (1024
a4, = a" - B0 2 1©0NS @) % Q305 2)ENed

(g
Options:
1. % :
2. % .
3.¢
2
4. ®

Question Number : 11 Question Id : 4509387211 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If both the roots of the equation x? — 6ax + 2 — 2a + 9a® = 0 exceed 3. then

D060 x2 — 6ax + 2 — 2a + 9a2 = 0 QWL TOCH TN 3 § MO GOT,
€909 )¢

Options :



1. %
3
o —
2
2. ®
. B
@ < i—
2
3. %
11
a>= —
4. &

Question Number : 12 Question Id : 4509387212 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If & and f are two distinct negative roots of x> — 5x% + 5x% — 1 = 0, then the equation of least
degree with integer coefficients having v~ and .\;"——B as 1ts 100ts 15

x° =523 +5x2 —1=0 G308 B0 D) TS IrereD a HOAN fen
OO, V=a,/-F O PO Gd) JFFos Hunsen O3 §a) oS
DEBEI0

Options:

x% — 3x+1=0

—x*4+5x2 — 5x+1 =0



—x%* — 5x245x+1=0

xt —3x%41=0
4.

Question Number : 13 Question Id : 4509387213 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the number of real roots of x? — x®+x* — 1=0 15 . the number of complex roots having
argument on imaginary axis is m and the mumber of complex roots having argument in 2%

quadrant 1s K. then m.n.k =

2 -5t - 120 0 0 Q) SPErO 0D 1, SOTN0 §8))6 @80 D f©
So8dsurere) oz m OO 209 P30 S eATN0 o) HoEdrere Ho; K
9ONS, m.n.k =

Options:

6
1.4



Question Number : 14 Question Id : 4509387214 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

All the letters of the word TABLE are permuted and the strings of letters (may or may not have

meaning) thus formed are arranged in dictionary order. Then the rank of the word TABLE

counted from the rank of the word BLATE 1s

TABLE 206 R ®9) ®5T08 Tratls @8 5306808 (985083009 i)

B FEFHD)) A00EN) (506 0T, ®))¢h BLATE K0 Gwg), 0708

DHOG T8)0DJ) ) TABLE 0 C30E). T°05

Options :
50

1. %
97

2. ®
61

3.¢
37

4, %

Question Number : 15 Question Id : 4509387215 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



5 boys and 6 girls are arranged i all possible ways. Let X denote the number of linear
arrangements 1 which no two boys sit together and Y denote the number of linear arrangements
in which no two gurls sit together, If Z denote the number of ways of arranging all of them around

a circular table such that no two boys sit together. then X: Y: Z =

5 (HK 2P0, 6 (HEH 2PDEOD APCENR), ATV BT, 2 B 2renth
D8NS ErFISK0E &) DN BHED NJ0DsD X DB ) BOD
O%N NGNS EROISR0E  G3) SO0 @H880  Nopsd Y
AT OO0, FE0GBA 8 MO 20 DEF O BB zrend
88 B850 GOTAEY @0EIHOT e 0D Z ArD R, O
X:Y:Z=

Options :

1:1:21
1. ®

23158
2.9

TS
3. %

4:3:3
4, ®

Question Number : 16 Question Id : 4509387216 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The number of ways of distributing 15 apples to three persons A. B. C such that A and C each get

at least 2 apples and B gets at most 5 apples is

15 O3PS 0B A, € %) 2,578,088 80:30 Boch HBA B § B0 5 A
DO STINGOM 0D 23530en A, B, € O30 HOHOT e Ho;

Options :

57
1.+

Question Number : 17 Question Id : 4509387217 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the 2%, 3™ and 4™ terms in the expansion of (x + )™ are 96, 216. 216 respectively and 1 is a
positive integer then a +x =
(x+a)" G30E) NGRS 269, 365, 485 HTTEN SEM 96. 216, 216 HOK 1 28 5

8 N0D; WONB ¢ +x =
Options:

n+1
1.4



n

—
-

3 |

Question Number : 18 Question Id : 4509387218 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

-25

If |x|<1. then the number of terms in the expansion of E(I.Z +23x 43400 + )| s

i —— v, [ VA v
[x|<1 0N, |7(12 + 231+ 34x2 4 - m]] 3%} ANBRS'D DT 503

Options :
Infinite
50650

1. #®
101

2. ®
76

3.

51



Question Number : 19 Question Id : 4509387219 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

11'4

x| < 1, The coefficient of x? in the power series expansion of ——— is
| x| p P (x+1)(x—2)

1 Gk, S D000 1 B, heko

|x] <

(x+1)(x—2)

Options:

3
1. ®

0
2.

—1
3. %

=3
4. %

Question Number : 20 Question Id : 4509387220 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1

If M1 and M2 are the maximum values of . and 3 cos5x + 4sin®5x
11 cos2x + 60 sin2x + 69

. M,
respectively, then — =
? M,

1
11 cos2x + 60 sin2x + 69

Mi 08050 Mz €0 ST DO0SD 3 cos25x + 4sin?5x © (18s)

o M
INITB, -t =

2

Options :



I

Question Number : 21 Question Id : 4509387221 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
4 T m 23T 2 4 B
cos? C‘GSS Cos 7 cos E cos 7 =
Options:
1
1.4 8
1
32
2. %
1
32



0| =

Question Number : 22 Question Id : 4509387222 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

; o v e ; ; . 1H2H3
In a triangle ABC. if 4, B, C are in arithmetic progression and cos A + cos B + cos € = N?\

thentan A =

82980 4BC S, 4, B, 0 @0FFR S & 00 HOA

14243
cosd+cosB+cos( = ;!; ONS, tand =
¥

Options :

V3
1. #®

RN
2.«

1
3. ®

2 -3
4, %

Question Number : 23 Question Id : 4509387223 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The general solution of the equation tanx + tan2x —tan3x = 0 is

tan x + tan 2x — tan 3x = 0 DNE3L0 ABVE), TS TS

Options:

T nm
{x|1‘ —#gt—or - € Z}

3
1. %
s
{x|x =ni i EDT ni,n € Z}
2.
T nm
{x|.¥ =niE +—or—or mK,n E Z}
3 2
3. %
{ ) T nm "
XX =nn —or— 1 E }
| 6 2
4, %

Question Number : 24 Question Id : 4509387224 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The value of x such that sin (2 Tan™! ;) —:epe{2 Tan *x)is

sin (2 Tan™! i) = cos(2 Tan™1 x) @ADSEIENT &GO x DN

Options :



1| =

Rt [ S

Question Number : 25 Question Id : 4509387225 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: 3 o
Iftanhx = sechy = 2 and e**Y is an integer, then e**Y =

3 . . .
tanhx = sechy = = 005w ¥ 2.8 y*F080 ONS, e*HY =
Options :
2
1. %
2% 8
1
3. %
6



Question Number : 26 Question Id : 4509387226 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In AABC. if b+ctc+ata+b=7:8:9, then the smallest angle (in radians) of that
triangle 1s
ABC S b+cictata+hb=7:8:9 ©ond, & (@Hz0 B A 500
(BAOHNS)

Options :
-+
cos™ (5)
0s =
1.+
2. % 3

Question Number : 27 Question Id : 4509387227 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

a+tc

In A ABC. if (a + ¢)? = b? + 3ca. then =

AABC &S, (a + ¢)? = b2 + 3ca ©ONS,

atec
2

Options :
1.



“
S5
v 3.cos
¥
2.
=
cos
2
3. %
. (3—1 — C)
sin
) 2
4, ®

Question Number : 28 Question Id : 4509387228 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. T . ; 3
In A ABC.1f A, B, C are in arithmetic progression, A = \’?aud ryry =137, then R =

AABC S A,B,C 0 @OSEAS ryom, A== B0 1yry = 13r ©ONS. R =

Options:

V3
1. %

2
2. %

1



Question Number : 29 Question Id : 4509387229 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let @ =3i +4j - 5k, b = 2i +j- 2k. The projection of the sum of the vectors a,b on the

vector perpendicular to the plane of @, bis

a=3i+4j -5k b=2i4] -2k @DHH00. b dOFO SO0K 002 I T b

© INBO TNEY DI waD

Options :
0
1.4
2% V2
7V2
3. %
i
V2
4, %

Question Number : 30 Question Id : 4509387230 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In APQR, (4f +3j+ 6@, (:2? +2j+ 3@) and (E%f 4 3@) are the position vectors of the
vertices P. Q and R respectively. Then the position vector of the point of intersection of the angle

bisector of Pwith QR 1s

PQR (B20206 P, Q, R © e SOOI ST (4 +37 + 6k), (21 +2] + 3k),

(3i + +3k) ©ONE P OJF) 569 DDA OGN TD QR D POGOT Docha) V'
O3

Options:
6i 4+ 5/ + 9%k
1. %
2 —J-43%
2. %
(5i + 3j — 2k)
3. %
Aoy des ap
B
4. &

Question Number : 31 Question Id : 4509387231 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Iff =i+j+kand g =2i —j+ 3k then the projection vector of f on § is
f=i+j+kDOOMW g=2i—j+3k @S 7D f B0E; 0 I3 D AEF
Options:

1. %



2 |
Z(i+j+k)

2
? (2i —j 4+ 3k)

2.
: . : ,
S e
3. % 5
1{'2'  + 3k
i )
4, %

Question Number : 32 Question Id : 4509387232 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If § is the angle between f = i 4+ 2j — 3k and § = 2i — 3j + ak and sinf = Ethen

7a® + 24a =

f=i+2j— 3k HBOW § = 2i — 3j + ak ©eDCHS S€I0 O O sinf = J%@cm@*

7a? + 24a =
Options:

10

1.+

12



36

15

Question Number : 33 Question Id : 4509387233 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The distance of a point (2,3, —5) from the plane 7. (4i — 3j + 2k) = 4 1s

7. (41 — 3j 4 2k) = 4 50 DO& (2,3,-5) D0oDHI o) cArdo

Options:
1t
1. %
11
2 x VE?
15
V29
3.¢
11
4% V38

Question Number : 34 Question Id : 4509387234 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
If X1, %, X3 ... X, are 1 observations such that Y(x; + 2)* = 28n and X(x; — 2)* = 12n,
then the variance is:
Xy, Xy X3 o Xy O 1 DO (x; +2)% = 28n DO T(x; —2)% = 121,

9aDSIY G T AY:

Options :
12

1.+

5 % 14

3 % 16
20

4. %

Question Number : 35 Question Id : 4509387235 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Three numbers are chosen at random from 1 to 20. then the probability that the sum of three

numbers 15 divisible by 3 1s

1 DO 20 B3 110> 0D DO T OO ATFYR IS0 e ) 00T

&8 0RO B0 3T 2rA0DAGEAE Do2radsed
Options :

1

1 % 114



147

5 % 342
16
47
3. %
32
85
4.

Question Number : 36 Question Id : 4509387236 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Two persons A and B throw three unbiased dice one after the another. If A gets the sum 13, then
the probability that B gets higher sum is

A B0 B @ 90D S530e0 P AaP)S SN arDEO 2,80 dhare
DOTBED DDRTYD. A FoOS Jwdo 13 ©oNS, B woddyr) @

TR, FOTOHE DOZF3eh

Options :
5
216
1. ®
27
2. ®

3.¢



35
216

20
216

Question Number : 37 Question Id : 4509387237 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

8 teachers and 4 students are sitting around a circular table at random. then the probability that no

two students sit together 1s:

8 DOE) Galrers0NeN DEA 4 (HA) ATEDEN 2.5 HHTSE 2O THEYP

AT CYR,)80m 8 th )08, @ B drrsden §OR Biom &GOS

S[OTANCY
Options:
Fi
88
1. %
14
33
2. %
8
33
3. %

4. &



Question Number : 38 Question Id : 4509387238 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A bag contains 6 balls. If three balls are drawn at a time and all of them are found to be green.

then the probability that exactly 5 of the balls in the bag are green is:

2,4 D00 506 6 206000 §0:9. FAKH0G 2,370 3 20K B 93 9 AN

3302320 206N EDHFTYD. WS & D0 S0cH DAIBO™ 5 &N
20ENOGITVS N02TPE:

Options :

4

35

~1]

~1| =

Question Number : 39 Question Id : 4509387239 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In a Binomial distribution. the difference between the mean and standard deviation is 3 and the
difference between their squares is 21. then P(x = 1) : P(x=2) =

RAARARAAZ WIS AW AT AWV W IR VTS I AT AR
SB05 aTR T 3655 Bt 21 WONB P(x=1): P(x=2) =

Options:

Question Number : 40 Question Id : 4509387240 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

When an unfair dice is thrown, the probability of getting a number & on it is P(X = k) = kP,
where £=1. 2. 3. 4. 5. 6 and X 15 the random variable denoting a number on the dice. then the

mean of X 13

2,8 Q)5 5050 DS DRGSO TR kBT 0D SFOTOCHH
NP5 P(X = k) = k*P,k = 1,2,3,4,5,6 anOO arDE3) oI3)) 0D
TS DOT X T ArAW, TR @080

Options:

2h

1. %



2. %
441
3% 0
441
91
4.v

Question Number : 41 Question Id : 4509387241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of the locus of pomts which are equidistant from the ponts (2. 3) and (4. 5) 1s
(2. 3) HOAD @ 5) DodIed MW drdo & BT Hoche Ty
HODWEBE0

Options:

¥ y=0
1. %

xFy= 7
2. ¢

4x + 4y = 38
3. %

s



Question Number : 42 Question Id : 4509387242 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The transformed equation of x* — y? +2x + 4y = 0 when the origin is shifted to the point
(-1,2) is
OO ITF0SS D8N 507 0 HoDYD (-1,2) § B

=y + 2x + 4y = 0 Q0 Eraroedd HEBE0

Options :
x2+yr=1
1. %
1835 =1
2. %

iy 3=

4x? +9y? = 36

Question Number : 43 Question Id : 4509387243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The equation of the side of an equilateral triangle 1s x + y = 2 and one vertex 1s (2, —1). The

length of the side 1s

2,8 e 27570 (892920 G308, 2.8 2020 x +y = 2 D00 (2, 1) 28 30 oW

2200 OR08) &Pche)



Options :

V2
V3
1. ¢
1
2/3
2. %
V3
3 x V2
2
4 % V3

Question Number : 44 Question Id : 4509387244 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The orthocentre of the triangle formed by lines x + v+ 1 =0;x—y—-1=0and
3x+4y+5=01s
x+y+1=0 x-y-1=0, 3x+4y+5=0 &3 908 OB |@2HB0 T0E)
©0230|¢Iei

Options:

1.4

(0,0)



(L, 1)

Question Number : 45 Question Id : 4509387245 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the slope of one of the pair of lines represented by 2x% + 3xy + Ky? = 0 is 2. then the angle

between the pair of lines is

22 + 31y + Ky? = 0 00T Sarani o8 & B9 aren 2 @ond Saraio

¢3s 860

Options:
2
1.+
T
_ 3
2. %
T
3.% O
s
4



Question Number : 46 Question Id : 4509387246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The length of x-intercept made by pair of lines 2x% + xy —6y2 = 2x + 17y - 12 =01s

202 4y — 6y — 20 + 17y - 12 =0 @ Ogroiniio x @50 2 TR @SSO0

A

Options :

2
1. %

10
2. %

5
3.¢

20
4, ®

Question Number : 47 Question Id : 4509387247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

From a point (1, 0) on the circle x* + y? — 2x + 2y + 1 = 0 if chords are drawn to this circle,

then locus of the poles of these chords with respect the circle x* + y? = 41s

a4y 24274120 5980 D 0 (1, 0) Dotda) N0& & SHTS a5en

AR 1% + 32 = 4 B0 G als, 8823750 (DSa® DochEo.

Options :

X—i4
1.«



T2y ="5

2. %

x2+y:P—x—y=0
3. %

2y2 =(x+1)
4, %

Question Number : 48 Question Id : 4509387248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A and B are the centres of similitude with respect to the circles x + y% — 14x + 6y +33 =0
and x% +y% + 30x — 2y + 1 = 0, then midpoint of AB is

x4y - 14x 4 6y + 33 = 00000 x4+ y2 4300 -2y +1=0 5)Se00 ST, A
0080 B € MEPIS0|sinen eons, A, B GRg) ¢35 Docha)

Options :

53



Question Number : 49 Question Id : 4509387249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
C11s the circle with centre at O (0. 0) and radius 4. C2 1s a variable circle with centre at (e, §) and
. 3 g
radius 3. If the common chord of Cy and C; has slope Z and of maximum length, then one of the

possible values of @ + f 15
C1 8% 3990, 30(¢50 0 (0. 0) B 7580 4 EORN0B. € &F WYSyBo
501830 (a, B) HBA F5PP0 5 EORHOR. G dYTON C1 SO Cr © o) 278

3R e j T 608 (0 PAIH SO0 G0B, a4 B H 5T dendod 2,46

Options :
21
5
1. %
3
5
2.
1
3. % 5
19
5



Question Number : 50 Question Id : 4509387250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the pair of tangents drawn to the circle x* + y? = afrom the point (10. 4) are perpendicular.

thena =

(10, 4) DoY) DO 1% 4% = a? SHTRE AAN )09 0if0 ©oOT GO,

ia=

Options :

\58
1.+

58
2. %

2v63
3. %

2v/45
4, %

Question Number : 51 Question Id : 4509387251 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If x — 4 = 0is the radical axis of two orthogonal circles out of which one is x? + y? = 36, then

the centre of the other circle 1s

2,8 9 12 + y2 = 36 P HOA BOC ©0DDNN 59T NPErE0 x -4 =0

©ONB, 8 SHTOS HB J980 gy J0(¢0

Options:



(8.0)

1. %

(9. 0)
2.

(6. 0)

(12, 0)
4, %

Question Number : 52 Question Id : 4509387252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the normal chord drawn at (20,2&1-"'5] on the parabola y* = 4ax subtends an angle 8 at its
vertex, then 6=
2 _ ¥ Ry = f éjj < 06 o ﬂ < éJJ s 7 &j < M
y? = dax TIOON0D (2a,2av2) D0cs) SO DS @202 2%, T 380 Q) 8

00 T, 8=
Options :

45°

90°

135



60°

Question Number : 53 Question Id : 4509387253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the ellipse 4x% + 9y* = 36 1s confocal with a hyperbola whose length of the transverse axis is

2. then the pomts of intersection of the ellipse and hyperbola lie on the circle
A8559% 0 k) Toche EORS 2.8 @8 HT0H0S 42 +9y? =36 HYNgB0
NETDO0T 0D, &8 AUSB0 HBAN @BITHOMMO FE, DO

D0CHON GO o

Options :

x+y*=81
1. %

x* +y* =16
2. %

x2+y?2=25
3. %

=
4,

Question Number : 54 Question Id : 4509387254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



3 % s ; ;
If the eccentricity of the hyperbola g z—z=l 15 sec a, then area of the triangle formed by the

asymptotes of the hyperbola with any of its tangent 15

Lo e8dmaecho G, G0l seca ©ONS, 8 ©8ITHO0N0

a 2

R0, 9906 360D HBAN TAGVE) BN D)ETDE OB (BeH

3P0

Options:

a’b? sec? a
1. %

EJE

|tan |
2.

a’tan’a
3. %

(a?+b*)tana
4, %

Question Number : 55 Question Id : 4509387255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: JEE @ it - : ;
If e1 and e; are respectively the eccentricities of the hyperbola — - %=1 and 1ts conjugate
Z :

hyperbola. then the line " ?=1 touches the circle having centre at the origin. then its radius is
auy,  ad

o DO ¢ € SHIT ooy X - L1 H6oky TR ookl

a?

DTHOOH0 Ty &BL0(Cede) @oNS, 2i+ 2 =1 09 Sredochs) S|

€ <&

(1) SR, DTN, & Syehein Gy, argaro

Options :

2
1.4

e; +e,
2. %

€1€2
3. %

4
4, %

Question Number : 56 Question Id : 4509387256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The orthocentre of triangle formed by points: (2,1,5), (3,2,3)and (4,0,4) is

(2,1,5),(3,2,3)s00050 (4,0,4) Dohayord BT |9eHE0 G30E), ©02Z0(S5M

Options :

(3,1,2)
1. %



£3.2,3)

2. %
(3,1,4)
3. ¢
(1,4,0)
4. %

Question Number : 57 Question Id : 4509387257 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

IfP=(0,1,2),0 =(4,—2,1)and 0 = (0,0,0) then £P0Q =

P=1(0,1,2),0 = (4-2,1) B0 0 = (0,0,0) ©ONB LPOQ =

Options :
.6

1. %
T
4

2. %
T
_ 3

3. %
[
2



Question Number : 58 Question Id : 4509387258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the perpendicular distance from (1, 2,4) to the plane 2x + 2y —z + k = 0is 3,thenk =

(1,2,4) 00 2x 42y -z + k=0 &3 $erd8 () ©02¢rE0 3 @RS k =

Options :
4
1. %
7
2.
3. % ?
19
4, ®

Question Number : 59 Question Id : 4509387259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

L [1 | ]_
xlilgr x e*—1|"

Options :
0
1. %
1



3. %

4.

Question Number : 60 Question Id : 4509387260 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
r 0, ¥ =i}
229, forBEs i
2 forx=1
Let f(x) =4 ;
=—ax Forlsx <2
-3 S
o forx =2

then which of the following is true
00, 1806 ¢3S DO Hehgssn
Options:

f 1s right continuous at x = 0

x =05, f @A 50 DD Y)W

f 1s left continuous at x = 1

x =139, f OO ¢H63 29D Jd) o0



f 1s right continuous at x = 1

x =198, f OO 5o @D Jd) 50

f 1s continuous at x = 2

x =2 38, f DD 50
4.

Question Number : 61 Question Id : 4509387261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

\ Vx
it f(x) = (T—x) is continuous at x = 0 then f(0) =
—X
1+x lf‘x oy, T i i -
x=ilhaity ) — (ﬁ) 9D IR o) O, £(0) =
Options:
e'l2
1. %
5
2.
o2
3. %
e_ljfz



Question Number : 62 Question Id : 4509387262 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The function f(x) = |x — 24] 1s

F0) = |x — 24] @D |DDADSD

Options :

Differentiable on [0, 25]
[0, 25] 30 @35>0

1. %
not continuous at x = 24
x = 24 5 DD I N 52D
2. %
neither continuous nor differentiable on [0, 25]
[0, 25130 @D )53 5°¢ DB 9535250 5%
3. %
Continuous on [0, 25]. but not differentiable on [0, 25]
[0, 25] 20 @D 15,830, 5% @955HDONSN 5°¢H
4.«

Question Number : 63 Question Id : 4509387263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



- : 5 —————— d2 - |
If s Jsm;l-ﬁ-_wf sinx + +/sinx + ++ co then the value of d—J: at the point (, 1) is
X

e o . B d?
V= Jsmx ++/ sinx + Vsinx + 0 @ONB, (7, 1) DOCNY 3 d_x:: -

Options:
2
1. %
=
2. v
j |
2
3. %
1
4, % 2

Question Number : 64 Question Id : 4509387264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If f(0) =0, f'(0) = 3, then the derivative of y = f(f( f(f( f(x))))) atx =0 1is

f©) =0, f'(0) = 3008 x =089 y = F(F(f(F(f(x))))) T8} BSESai)

Options :
16
1. ®



Question Number : 65 Question Id : 4509387265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The value ¢ of Lagrange's mean value theorem for f(x) = e* + 24 in [0. 1] is

[0, 1] 65 f(x) = e* + 24 5 BTOR D56 Densd DFF0eh0 T30E) ¢ e

Options :

log(e — 1)
1.4

log(e + 1)
2. %

log(e + 24)
3. %

log(e — 24)
4, %

Question Number : 66 Question Id : 4509387266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Equation of the normal fo the curve y = x® + x at the point (1. 2) is

y = 12 + 1 9D J508 (1, 2) 9D Dochay S @02 T Ty DMEBEISN
Options :

x—3p+H=10

1. %

x+3y+7=0
2. %

¥+ 3n4 5 =10
3. %

243y —7 =0
4. &

Question Number : 67 Question Id : 4509387267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Displacement s of a particle at time ¢ is expressed as s = 2t* — 9t. Find the acceleration at the

time when the velocity vanishes.

2,8 800 A8y Y'(I0Fa s, t oAb HQ s =263 -9t T Q) SAN.

3156300 Ao 50500 9GRS e 050 SIE) € 685 OB?

Options :
1. % .
6 '\f’g



Question Number : 68 Question Id : 4509387268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a runming track of 500 ft. is to be laid out enclosing a playground. the shape of which 15 a

rectangle with a semicircle at each end. then the length of the rectangular portion such that the

area of the rectangular portion is to be maximum is (in feet).

B DRSS A TSYTN ) VT &) 2.8 SOVO0 THET 2.8

500 . 300 (75 SN0, Y W9ehd() aeiio TBwg) FF©50

(10:00D3EIED 0T &8 AY e 2o T3y rchs) (CchiHod)

Options:

100
1. %

125
2. ¢

150
3. %

200



Question Number : 69 Question Id : 4509387269 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

x2—1
[ : dx
o3Pt —2Zx2 11

Options :

14 2% §2x*
2x2

+C

(14 2x2 + 2x%) 72

+ &
2x2
2. %
1= 2x® 4 2x% %
c
2x2
3. ®
(1—2x2 +2x4)72 i
iy
2x2
4, &

Question Number : 70 Question Id : 4509387270 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
".x'grnlz_l,r4
P PV T _]:' —
1+ x8

Options :



S s
1.« .
(Tan™1(x*))?
—fE
3
2. ®
(Tan 1YY
el
4
3. #®
(Tan"1(x*))?
. X)) 1
4, & 2

Question Number : 71 Question Id : 4509387271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2
[—dxz
J1¥FEF x>

Options :

4 2x —1
—_Tnn_l( — )‘|‘C‘
v3 V3




"|~|3 1\-'.'3

3. %
2 G 2x+1
—Ton ( pizo: ) 2 o
V3 V3

4. %

Question Number : 72 Question Id : 4509387272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1
’- ————dx =
I (V11 %)

Options:
—Vx2 41
—5
.
1. %
Vit +1
_ +-C
2. % A
—yfxs =1
+
o
3. ®
Vxd—1
4+



Question Number : 73 Question Id : 4509387273 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
sin 7x
: : A=
sin 2x sinbx
Options:

log (sin5xsin2x) + ¢

1. %
log sin5x + log sin 2x + ¢
2. %
1 1
—log sin5x+ —logsin2x 4 ¢
5 2
3.+
1
—log sinx + ~logsinx + ¢
5 2
4. %

Question Number : 74 Question Id : 4509387274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
“a |
’- log(1 4+ tan x)dx =
Jo

Options :

mlog2+1



2. #®
® ou2
i
3. ®
i
g %%
4., &

Question Number : 75 Question Id : 4509387275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

_ ( : 1 3 )
lim | —=4— Forerbo— =
Rm it oyt =1 iyt —(m— 1)

Options :
2\,-"’]7?
1. %
2
1.,.‘7?
2. %
8
2
3.
31
2



Question Number : 76 Question Id : 4509387276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The area (is sq. units) bounded by the curves x = y? and x = 3 — 2y? is

SES000 x = y2 HBAM x = 3 — 2y2 OT DBV FTOF0 (D.CFAS)

Options:
8
1. %
2. ®
4
3.v
6
4. %

Question Number : 77 Question Id : 4509387277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

a1 : g
———dx =

2.5
-1+ cos=x
Options :

32



5
2. %

JTZ

4
3. %

.71"2
av °

Question Number : 78 Question Id : 4509387278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (1 4 tany) (dx —dy) 4+ 2xdy =0 is

955808 HNBBEI0 (1+ tany) (dx — dy) + 2x dy = 0 BB0E), FTTEE P
Options :

e*(ycosx +sinx) +sinx = ¢

1. %
X 7 3 ; - B
e*(ycosx + ysinx —sinx) + cosx =0
2. ®
e¥(xcosy+ xsiny —siny) =c¢
3.



e¥(xcosy+xsiny+siny) =c¢

Question Number : 79 Question Id : 4509387279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The general solution of the differential equation x dy — y dx = ,/x? + y2dx is

£9a3800 DaEBEI0 x dy — y dx = /22 + y2dx TBNEY TS S

Options:

y+4/x2 +y2 = cx?

v+ a7+ y7=cx

2. ®

1 _|_ V"‘J'_IE _|_ }1-2 == C:ll.T
3. %

x —+/x2 +y2 = cy?
4. %

Question Number : 80 Question Id : 4509387280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



T . d?y 1/2 dy /5.
The sum of the order and degree of the differential equation x (@) = (1 + E) 18

20} 4
@80 N8B0 x (d—y) > (1 +§—§) : O308) 200 B0 e

dx?
o
Options :
5
1.+
8
2. ®
12
3. %
i
4, %
Physics
Section Id : 450938154
Section Number : 2
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Number of Questions : 40 40

Section Marks :
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Maximum Instruction Time : 0

Is Section Default? : null



Question Number : 81 Question Id : 4509387281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The potential difference across the ends of conductor is (30 + 0.3)V and the current through the

conductor is (5 + 0.1)A. The error 1n the determination of the resistance of the conductor 1s
28 a8 D00 N FBHV0HO B0 (301 03)V HAA FTE0 o

DS (N0 (5 + 0.1)A. aFrEsy AFC0 B8NS B0
Options :

1%

Question Number : 82 Question Id : 4509387282 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A body thrown vertically upwards from the ground reaches a maximum height ‘H’. The ratio of the

- . 3H 8H |
velocities of the body at heights 7 and S from the ground 1s

25720 0G § 82 0020 DAGDAN 28 e DO (10 I ‘H'. 27D 0od

3H , 8H :
— ook — DR 6 S0y Fro A

Options :



1. #®

27:32
2. ®

3:2
3.
4 % 3:8

Question Number : 83 Question Id : 4509387283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The angle made by the resultant vector of two vectors 2i + 3j + 4k and 2i — 7j — 4k with x-axis
15
20 + 3j + 4k OO 2i — 7j — 4k BOH ABIO O Y, x-85 08 TS0
Options:

1. % o

45°

90°

120°



Question Number : 84 Question Id : 4509387284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The relation between the horizontal displacement x (in metre) and the vertical displacement y (in

metre) of a projectile is y=3x-08x% The time of flight of the projectile is

(Acceleration due to gravity = 10 ms™%)

2,8 (NS %0 gy §82 durosds PS030 x (WD ) By §Bzeo

TS50%0 v (W0 &) © D5 D000 y=3x-082 N3N0 TOS

ROIPEI0D B0 S0 (HEE S & 58e0 = 10 ms?)
Options :

1.5s
1.

Question Number : 85 Question Id : 4509387285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A 100 kg gun fires a ball of 1 kg horizontally from a cliff of height 500 m. It falls on the ground
at a distance of 400 m from the bottom of the cliff. The recoil velocity of the gun 1s (Acceleration
due to gravity = 10 ms™?)

500 m KO DGO DO 100 kg Ko 2,8 ars 1 kg (ed5072 (i) 208 § 23
desrosdor DO08. & 208 3d0 b Hod 400m ErdoS D
DBSE. 0B S8 T} (IFIGE S0 (Hehed s &880 = 10ms™)

Options:

0.6 ms™1
1. 8

0.8ms !
2. ®

0.2ms !
3. ®

0.4ms™?!
4,

Question Number : 86 Question Id : 4509387286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ablock of mass 5 kg 1s placed on a rough horizontal surface having coefficient of friction 0.5. If a

horizontal force of 60 N 15 acting on it. then the acceleration of the block 1s (Acceleration due to

gravity, g = 10 ms ™)

5 kg (3507 0 2,8 B0 aed 196980 0.5 SORS (5% § B33 dairoedd 5107

GO, & B 2 60N §82 daroddo 200 A TR0, & Ay 560

=
-

(hed s €8 58620 = 10 ms™?)



Options :

7 ms 2

1.+

5 ms 2

10 ms 2

. =
4 % 15 ms

Question Number : 87 Question Id : 4509387287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The average power generated by a 90 kg mountain climber who chimbs a summit of height 600 m

in 90 minutes is (Acceleration due to gravity = 10 ms™?)

00 kg © 2.8 93 5P 600 m A (10 2TV 90 ANTOS OOT DS
BTN DD 050 ((Hed ¢ ¢ 630 = 10 ms™2)

Options :

100 W
1.+

25W
2. ®

200 W
3. %



50 W

Question Number : 88 Question Id : 4509387288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A boy weighing 50 kg finished long jump at a distance of 8 m. Considering that he moved along a

parabolic path and his angle of jump is 45°, his initial KE is

50kg € &7 2.8 270k €20 20 &b 8 m ErB0 AT, @ HTHech

S g 1] 4 ~ T
G0 EBEPGNTHLN HOCH @ 45° F0d ErsnTHLn. o

e &) e 45

Options :
960 J
156017

2. ®
246017

3. %

1960 T

4.

Question Number : 89 Question Id : 4509387289 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The moment of inertia of a rod about an axis passing through its centre and perpendicular to its
" . : . . .
length 1s = MI2. where M is the mass and L is the length of the rod. The rod is bent in the middle

so that the two halves make an angle of 60°. The moment of mertia of the bent rod about the same

axis would be
195509 M, §°¢ha) L 0> 56 TRnE) S50y 08 ek 56 rcheySy oo
o> &8 0 60T T ached s (@rdso - MIZ 83 Toch iferren 60° S0 TRer

5B T DO S SotB06. & J0tb 5 TBg) Bche ¢ (T80

&3 @80 HB0mP
Options :
1
— MI?
48
1. %
— MIL?
12
2.
o J.MLE
24
3. %
1
= IWLZ
n 8v3

Question Number : 90 Question Id : 4509387290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A uniform rod of length ‘2L" is placed with one end in contact with the earth and is then inclined
at an angle « to the horizontal and allowed to fall without slipping at contact point. When it becomes

horizontal. its angular velocity will be

el 2L 1) 28 DSOS 8B 2,8 DS AFNA TR BOhe DS &S ¢ 860
TP GOTBE® TONP GoUAG00. 8 §3 X &8 Do 5O Fshom
550 (8008 Hch ) B, 25708 deSrosdom 53088 o S So

Options :

2L

3gsina
2. %

6g sina

L
3. %
L

gsina

4, %

Question Number : 91 Question Id : 4509387291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two simple harmonic motions are represented by y; = 5 [sin 2mt ++/3 cos 2Trt] and
y, = 5sin [Zm‘ +g] The ratio of their amplitudes is
: fa Y 2 |- T v, g&)
yy =5 [sin2nt + 3 cos 2mt| HOO y, = 5sin [Zﬁﬁ-d &2 ASdETe) Toch
DEFTTe18 HOTOD AFDQT?) 0. T3 08N D)
Options:

o ok ¢

1. %

Question Number : 92 Question Id : 4509387292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When a mass “m’ is connected mdividually fo the springs s; and s,. the oscillation frequencies are
vy and v,. If the same mass 1s attached to the two springs as shown in the figure, the oscillation

frequency would be
m’ (O30 51 DB 5 (200 ©F0 S0 3O DAODIYCE S0 FPedea) 30
SN v, DO v, BT (G50 Toch (D)0MHOH HHOS BrRSEY

ODNOTS0 TN E0NN )50 d0eh?

Options :

Uy + Us

Question Number : 93 Question Id : 4509387293 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A satellite moving round the earth in a circular orbit has kinetic energy ‘E’. Then. the minimum

amount of energy to be added so that it escapes from the earth
25700 AP TS §856 BMDES) 28 G| iR B30E), (1BIE E”. 6 2D
D0G HerANN0 TOHEVS TR BOBOINO N @CIndn) 48

Options :

e
1%

2.

E/,

2E

Question Number : 94 Question Id : 4509387294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The elongation of copper wire of cross-sectional area 3.5 mm?, in the figure shown, is

(Yoopper =10 X 10 Nm™2 and g = 10 ms™2)

D& TS H00d, Thed HOEIG 3TO0 35mm? s, S T

N0 0eh? U
(Ycﬂpper =10 x 10" Nm™2 80w g = 10ms™?) B
Aluminium |
m
4 kg

Copper || (0.5 m

Tke

Options :

107*m
1.

107 m

10"®m

1072 m

Question Number : 95 Question Id : 4509387295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Water 1s flowing i streamline manner in a horizontal pipe. If the pressure at a point where cross-

sectional area is 10 em® and velocity 1ms™ is 2000 Pa, then the pressure of water at another

point where the cross-sectional area 5 em? is
A HTsT0 AOEGT h9) 2.8 § Bz D06 FOS DBST IS FT050 10 cm?
o) 2,8 Dochay 5 (DTrH0 1ms™! HOOM (TP B0 2000 Pa ONS

TS 37050 5 cm? (1) sFE DY I DEF0 DN
Options:

2500 Pa
1. %

2000 Pa
2. ®

1000 Pa
3. %

500 Pa

Question Number : 96 Question Id : 4509387296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A metal ball of mass 100 g at 20 °C 1s dropped in 200 ml of water at 80°C. If the resultant

temperature 1s 70 °C. then the ratio of specific heat of the metal to that of water is
G 20°C SO 05) 100g © 2.8 S'eTi) e 80°C SO o905 200ml NS
OB 8 3OS G 70°C BB SeTsn HO0H V3 TG,
DL A DN

Options :

1. %



5/2

1/,

2. &

%/
3. %

.
4. % /1

Question Number : 97 Question Id : 4509387297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The efficiency of a heat engine that works between the temperatures where Celsius-Fahrenheit

scales comcides and Kelvin-Fahrenheit scales coincides 1s (approximately)

2,8 G000 O JODR-TOR a€) IO 8INTN0 B0 3O R - 78

o8 S0 8BS0 |0 S5 AATNOT TR ¢35 6 (D)

Options :
45%
1. %
= 0.7
5 % 35%
60%



Question Number : 98 Question Id : 4509387298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Initially the pressure of 1 mole of an ideal gas is 10°Nm ™2 and its volume is 16 litre. When it s

adiabatically compressed. its final volume is 2 litre. Work dome on the gas is

o 3R
molar specific heat at constant volume = =

1 306 e3¢5 P00 DB, 0SIBSTEPE) HET 105Nm2 OO 16 DI, &8
FOWHD VENE NoHETIE HOTASID T A DXNBSFHO 2 OB
FO00Y 3 208 Ha? [%;)6 90:87e Frerd Ao =

Options :

72 K]
7.2 K]

720 kJ

360 K

Question Number : 99 Question Id : 4509387299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An ideal gas is taken around ABCA as shown 1 the P-V diagram. The work done during a cycle is
28 868) FoN) & (808 PV 5008 et ABCA D50 DEHH
(HOTONEVS TOVHOD DA J0eH?

P
'y
T B(3V.3P)
+ A C(3V,P)
(V.P)
F o >V
Options :
2PV
1.+
PV
2. %
o L
3. %
Zern
Q)
4, ®

Question Number : 100 Question Id : 4509387300 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The ratio of kinetic energy of a diatomic gas molecule at a high temperature to that of NTP i
28 € 500N 8D A8 G (16D Q) ) o) aDBON NTP Q) t5a)) a)Cd)
T fB59He AN)e

Options :

3/!2

1. %
5//3
2. %
5
3. % /?
?/5
4. &

Question Number : 101 Question Id : 4509387301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The vibrations of four air columns are shown below. The ratio of frequencies 1s

808 HB0S mrenih FaNP0are SoNmre) BB & Ty A )d

L L 4 oL gL

(a) (b) © )
Options:

1. %



1: 2:3:-4

1:3:2:4

:-4:3-2
3.

1:4:2-3
4, &

Question Number : 102 Question Id : 4509387302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A person can see objects clearly when they lie between 40 cm and 400 cm from his eye. In order

to increase the maximum distance of distant vision to infinity, the type of lens and power of

correction lens required respectively are

28 0355 6500 8¢9 DO 40 em OO 400 cm SNE3S SPGO 116) 3NIOD D IR0

WPEHOm. 8 )R Ggal HBr 508 Erdo B8P GoFO0T

GOPAOINON §850 HBOSH HEHarEN 56 AraQ5000 ST

Options :

Convex. 0.25 Diapter
00235, 0.25 CAairad

Concave, — 0.25 Diapter
- EFST, —0.25 CAOTND



Concave, — 0.5 Diapter

. EFS, - 0.5 CAATrRD

Convex. 0.5 Diapter

B00235°3, 0.5 30590
4. %

Question Number : 103 Question Id : 4509387303 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a slit of width *x” was illuminated by red light having wavelength 65004, the first minima was

obtained at 6 = 30°. Then the value of ‘x’ 13
© 3eden)) e OB 65004 SE0ATES0 Ko Athe) F0BS (BN D, 8= 30°
G FCE 8510 I IBOA. SONS ‘X’ DEN

Options :

1.4 X 10™* ym

1.2% 10> m
2. ®

1.3 pm
3.4

1.2 pm
4,

Question Number : 104 Question Id : 4509387304 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A neutral ammonia (NH;) in its vapour state has an electric dipole moment of magnitude

5 % 1072 C-m. How far apart are the molecules centres of positive and negative charge.

$6Q SN (NH;) a0y DBS 5x10%  Erenod-Dddh S
B31C032rH%0 D80 88 oin) 8. AR aH0cE) STrad S0 SHBaH
20ET5F 50|38 aES (B0 Dens.

Options :

4125 x1071?m
1. %

3125 X102 m

\;{2

3.125 x 10" % m
3. ®

4125 X107 °m
4, ®

Question Number : 105 Question Id : 4509387305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If four charges q; = +1x 1078 C,q; = 2% 1078 C,q3 = +3x 1078 C, and

Qs = +2 X 1078 C are kept at the four comers of a square of side I m. then the electric potential

at the centre of the square is

g =+1%108Cq,=-2X108Cq3 = +3X1078C, OO q,=+2x1078C (f©

TN SITOMD 1 m 2920 10 28 HSN0 TN 3T 58 S0, VeS|

50(230 36 D3 FRVOHO



Options :

1 % 300V
200V
510V
410V

4. %

Question Number : 106 Question Id : 4509387306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Eight capacitors each of capacity 2 uF are arranged as shown in figure. The effective capacitance

between A and B 15

2 1F © S 10 RO Sartdd H006 Bra GO 808 0070w,
A OO B 20NI® oGS 110 DO TFPATIR) 2N

Options:

10 pF
1.4



12 pF

16 pF

4 uF

Question Number : 107 Question Id : 4509387307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
IfE; =4V and E, = 12V. the current in the circuit and potential difference between the points P
and Q respectively are.
b a
E, = 4V 0800 E, = 12V £ 89006, 806 tirdd SO0 9:55F 0% ACSS,

P BAM Q Dochsh® e2¢33 FBQONO B0 DeNeden SN
E=12V

10 Q
P_»\/\/\,—|\—|MM— |
E=4V 10
8()
AN
Options :
1 % 1A, 8V
1A, 6V
2.
0.84, 6.4V

3.+



0.8A,8V

Question Number : 108 Question Id : 4509387308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Two 1dentical cells gave the same current through an external resistance of 2 () regardless whether

the cells are grouped i series or parallel. The internal resistance of the cells is
B0 DTN DEPOD BoA0ER (FS 5D0, Ber desrossor €D, 20

© ZPTEABEE0ES Nesmed EB0N [HNaFONTRT 0. DE @086 G0 Densd
Options :

10

1. %

050

1.5 0

2.00

Question Number : 109 Question Id : 4509387309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Two toroids with number of turns 400 and 200 have average radii respectively 30 cm and 60 cm.

If they carry the same current. the ratio of magnetic fields i these two foroids is
400 B0 200 HE Hog EORS Toch STranG © HiED TG0 denaden
ST 30 cm SO0 60 em. TOBOE S’ DT D (NaraT0 EOCD. BN

D8 0 8BS B 08 TEe )8
Options:

2:1
1. %

Question Number : 110 Question Id : 4509387310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Three rings, each with equal radius ‘1’ are placed mutually perpendicular to each other and each
having centre at the origin of coordinate system. ‘I" is current passing through each ring. The

magnetic field value at the common centre is

o 5o SOR, T DS 1DDerotdLND) Sareh HOMHEN NSNS PRI 2.8
RSO0 00, A T0E) SO, AETHE 9350 T, Jre)
DO 3D 509008 I3 &s30B 050 6 W08 T (a0 DENSS

»X

Options :

Zero
1. %

(V3—1) Mol

2mr

3.+

Question Number : 111 Question Id : 4509387311 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
One bar magnet is in simple harmonic motion with time period T in an earth’s magnetic field. If its

mass 1s increased by 9 times the time period becomes

2,8 SOADRTL0:, 257 @A 06 316 HBAES BOSIES FO5N T & oY
P06 )8 IR0 DO A, SOTOHL 00 GB8) (g T3 9 BED BA,
TR BOSIEN T Dens

Options :

3T
1.4

oT

4T

V3T

Question Number : 112 Question Id : 4509387312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A coil of mductance L is divided into 6 equal parts. All these parts are connected in parallel. The

resultant inductance of this combimation 1s

L 8850 $OR & ) B N 2FTPENT DR0VAID. & &) 2P
NPOSESNT §e00¢0 28RNSR, @ON & OG0 GE) DO (S0
MOV

Options :



L
2. 30

L

24
3. %

6L
4. %

Question Number : 113 Question Id : 4509387313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A 50 Hz AC circuit has a 10 mH inductor and a 2  resistor in series. The value of capacitance to
be placed in series i the circuit to make the circuit power factor as unity is

50 Hz AC 590006 10 mH [DEE:50 20050 2 2 © B0 (363 Lo,
& Soohsn 0308 s SE8Sy 88T Gohnd, SOoHSNS [FS
§ENDIO VN SPVBIR) DV

Options :
1.014 x 107°F

1. %

1.014 x 1073F
2.



2.6 X 107°F

4125 x 1073F

Question Number : 114 Question Id : 4509387314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The structure of solids 1s mnvestigated by using

08 DT HBFCEIS” EHBTA0T 8kearen
Options :

Cosmic rays

1 5°a02S 8%earen

p-ravs
~ B-88garew

2. %
X-rays
&

3¢ X S&earen
y-rays
y- 8Gearen

4. %

Question Number : 115 Question Id : 4509387315 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
The surface of a metal 1s first illuminated with a light of wavelength 300 nm and later illuminated

by another light of wavelength 500 nm. It is observed that the ratio of maximum velocities of photo

electrons 1 two cases 1s 3. The work function of metal value 1s close to

2,8 S a7 GwE) G000 300 nm SB0ATEYS0 Ho 506 8T S |H B
BOHAAIR. areh 500 nm SSOHTFH50 Ko 0TS 508 83eTOS (AN
TG, G0 H0GEINOS FONSEN JO[TE © (85 o) A 3
P 1R0TABIE, B0 ¢ 3P0 TEL R AN NEVed ST

Options :

6.48 eV
1. %

1.23 eV

417 eV

2.28 eV
4.

Question Number : 116 Question Id : 4509387316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ratio of minimum wave length of Balmer series to maximum wavelength in Brackett series m

hydrogen spectrum 15

TORS SENO0S 2 3RS @) dEoNTTHNE, 2756 (3SR st
SSONTTNS (o) Da)ed

Options :



2516

1. ®

4: 36
2. ®

9:100
3.«

100 :9
4. %

Question Number : 117 Question Id : 4509387317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The half-life period of a radioactive element A is 62 years. It decays into another stable element B.

An archaeologist found a sample in which A and B are in 1 ¢ 15 ratio. The age of the sample is

A 87 OARTTH)S Are$0 @dBN SO0 62 D056 )TN, 86 B &F S Y
Sre8or dLS0 Tothdod. 2 Hordd: TN EDHF) Sdrad A
OB EN1: 15 AAIBS 0B & Shree 50D

Options:

248 years

248 0008 YT
1.+

186 years

186 )0e0€d TN



124 years

124 c0060€5 TN

310 years

L 310 0Ed TN

Question Number : 118 Question Id : 4509387318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The current gain of a transistor in common emitter configuration is 80. The resistances in collector
and base sides of the circuit are 5 k() and 1 k() respectively. If the mput voltage is 2 mV. the output
voltage 1s
&0 ST DH0S R 28 (L0 IN0 B0 Wk 98 80. DEBEI HOOK
S0 32 SOOFOSQ AT HEIT 5k HOK 1k0. VI ST 2mv
90N YD O G2

Options:

4V
1. %

0.4V

0.8V
3.¢

8V



Question Number : 119 Question Id : 4509387319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Four logic gates are connected as shown in the figure. If the inputs are A =0,B = 1andC = 1.

then the values of y; and y, respectively are

T B8) Ten 9H0S TFDS ISE0T 0B, ST 4=0,8 =

108010 € = 189000 y; o080 15 20N DT

A —

[ i

Options :

1,0
1.4

1.3

0,1

0,0

Question Number : 120 Question Id : 4509387320 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The maximum distance between the transmutting and receiving antennas for satisfactory
commuication in line of sight mode is 57.6 km. If the height of the receiving antenna is 80 m, the

height of the transmitting antenna is (Radius of earth = 6.4 X 10° m)

Son Or HOBS NodyNES (D80 §W0 Bodk soTye s
0GR HBa) SrB0 57.6 k. (TS 80T, %) 80 m @ONE (NRFY S0E3T)
&) (Ararsrdo = 6.4 x 10°m)

Options:

288 m
1. %

51.2m
2.9

25.6 m
3. %

14.4m
4, %
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Question Number : 121 Question Id : 4509387321 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the longest wavelength of spectral line of Paschen series of Li*" fon spectrum is x A. then the

longest wavelength (in A) of Lyman series of hydrogen spectrum is

L% @057 SEIG0ES S (3638 ToAS SPE0D 508 i dBoiEdso

i audl

1 A @S IEBS SPH00ES B (3658 ToOS SGe0D 650 PR

$80iE850 (A ©S)

Options
12
Tx
1. ®
53
) v 12
20x
ZT
3. %
27x
4, ® 20

Question Number : 122 Question Id : 4509387322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If v, 1s the threshold frequency of a metal X. the correct relation between de Broglie wavelength

(1) associated with photoelectron and frequency (v) of the mcident radiation is
X 00 28 S5F0 R 6808 TE)S0 v, BonS T8 JOFS &
952052 AIS'O SE0HTE50 S5 ()OI DSID8GE Feds)d50855) (v)

W

06§ DB D000

Options :

e
VY — Vo

Question Number : 123 Question Id : 4509387323 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following sets, elements are not correctly arranged with the property shown i

brackets?

1808 ) ADBOS rOFen 2736 & WP G608 ST @03 ¢S E?

Options:



S = Se = O (Electron gain enthalpy)

(DOIFTS (TT5 DOTT))

F = O = Cl (Electronegativity)

(B0ea DD Teed 5 6d)

Na > Li > Al (Metallic radius)
(S'S F5ard0)

Na = K > Ba (Metallic nature)

(S5 D 5e350)
4.9

Question Number : 124 Question Id : 4509387324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following. there is no change in hybridisation of the central atom?

808 e3¢5 BRCHOK. BOIESE BSTEN) 0565880 & S Bew?

Options:
NH; + H*— NH}
1. ¢

BF, + F— BF;
2. %

PC].E + C]'E_} PC]S
3. %



C}.FE + Fz_} ClFS

Question Number : 125 Question Id : 4509387325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following sets the sum of bond orders of three species 1s maximum?

¢ oL Ty & o
1808 ) DNBOES T 27N 20E) (557 IN0 (1610?

Options :

B,,CN~, 03"

OEJ FZJ D%'r_

07, N,, 03
3.¢

C,, 05, Hel?

Question Number : 126 Question Id : 4509387326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 240.55 K. for one mole of an ideal gas. a graph of P (on y-axis) and V! (on x-axis) gave a
straight line passing through origin. Its slope (m) is 2000 J mol™. What is the kinetic energy

(in J mol ™) of ideal gas?
240.55 K 59, 2.8 IrO &3¢56) oY, P (-5 02) a8k V! (x- @3 0R) ©
20C5 AR D SreDocha) oG 3Ty A0ETD ©D0D0E. T TN (m) 2000
mol™, &¢3¢5) arOS0) (fede3S (7 mol O ) 0eh?

Options:

1 % 2000

> 3000

6000

1500

Question Number : 127 Question Id : 4509387327 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At STP. a closed vessel contains 1 mole each of He and CHy. Through a small hole. 2L of He and
1L of CHy was escaped from vessel in ‘t” minutes, What are the mole fractions of He and CHy
respectively remaining 1n the vessel? (Assume He and CHy as 1deal gases. At STP one mole of an

% T e
STP o960 2,8 0P PSS He 208D CH 0 2578 30O 175)09 Gy aw. 28
D), 801850 0B 2L © He HOOM 1L CHs 20560 39pFonaran. S¢S
DAY He oBOM CHy © IrO 27men ST 06?7 (He HBAN CHy 0
SOGTANYON BT, STP & 28 IO SOG)ToIy 24 L ©

DNGTETR) &5D0THA)

Options:

0.512, 0.488
1. %

(.3 S
2. %

0329, 0.671
3. %

0.488. 0.512
4.

Question Number : 128 Question Id : 4509387328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

10 g of a metal (M) reacts with oxygen to form 11.6 g of oxide. What is the equivalent weight of

M?

10g© 28 a0 (M) 88138 & 105500 116 g © 85)% & G100, M B,

eers08 ardo J0e?



Options :

Question Number : 129 Question Id : 4509387329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What 1s the enthalpy change (in J) for converting 9 g of H20 (1) at +10°C to H20 (1) at +20°C ?
(Cp (H20 (1)) =75 T mol™ K'*) (density of 20 (I) =1 g mL™)
10°C 5C 1163 9 2 © Ha0 (1) & +20°C 56 K&y HaO (1) TP 70,1980 0T 57
(7 O ) 0)Oeh?
(Cp (H20 (1)) = 75 Tmol ! Kt) (Hy0 (1) 2P0( ¢ = 1 g mLY)

Options:

750
1. %



Question Number : 130 Question Id : 4509387330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A.B. C and D are some compounds. The enthalpy of formation of A(g). B(g). C(g) and D(g) 15 9.7.

~110. 81 and -393 kJ mol™ respectively. What is AH (in kJ mol™) for the given reaction?

A(g) +3B(g) - C(g) + 3D(g)

A, B, C 805 D e §9) Sddaren. Ag). Blg). C(g) 00 D(g) © N0BNE

DOGTFO)IEN SO 9.7, -110, 81 SHOAN 393 kI mol. DI 958 A H (I mol

©S) 0e? A(g) + 3B(2) - C(g) + 3D(g)

Options :

=L
1.+

HEAEET

—1418.3

+1418.3

Question Number : 131 Question Id : 4509387331 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At equilibrium for the reaction

A (2) 1B,y (z) === 1AB(g)

the concentrations of A,, B, and AB respectively are 1.5 x 10°M, 2.1 x 10 M and 1.4 x 1073M

in a sealed vessel at 800 K. What will be K;, for the decomposition of AB at same temperature?

S0P GO aPBES 800 K )G
Ay (g)t B, (g)

——= 24B(y)
23580 DTV 6 Ay, B, HOOIN AB © MCheN DT
15x 1073 M, 21X 107°M SOOI 1.4 x 1073M. T &5ff{feh ¢ AB D00 N K,

2067
Options:

0.62
1. %

5 & 1.6

0.44

227

Question Number : 132 Question Id : 4509387332 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following when added to 20 mL of a 0.01 M solution of HCI would decrease its pH?

& 1800 RS BA 20 mL © 001 M HCl [@SePRE 0Dy ([ede0 pH

ee0d?

Options :



20 mL of 0.02 M HCI

20 mL ¢ 0.02 M HC1
1.

20 mL of 0.005 M HCl
20 mL © 0.005 M HCl

20 mL of 0.01 M HCI
20 mL € 0.01 M HCI

40 mL of 0.005 M HCI

4w 40 mL € 0.005 M HC1

Question Number : 133 Question Id : 4509387333 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the incorrect statement

A0 5% P55 H80H0G

Options :

Saline hydrides on electrolysis liberate dihydrogen gas at anode
VB TBE o0 DS DTNRS BSE SO BITIBBS FAYD
DD DO

CH, is electron precise hydride

CHy OO T &0 D)o tie) 3| B&H



Chromium hydride conducts heat and electricity

5 00H0 P B& 5 DT 580

Dot

3. %

Hydrides of group 15 elements behave as Lewis acids

15 & ({1770 Qo5 TP BG 0 SPQN® €300 (2)o0a] 00
4.4

Question Number : 134 Question Id : 4509387334 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following alkaline earth metals does not form hydride when it 1s heated with

hydrogen directly?

8318069 3ad 500 e B8 S'eFoeS BAR IFEBR & (36855 O 3B TS

TR B IGID?

Options :

Be

Question Number : 135 Question Id : 4509387335 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In the given structure of Diborane 01. 02 are respectively

H H

B ] e \E)Ez
o

Options :

1019, 118°

1. ®
118° 101°

979 1209

1209, 970

Question Number : 136 Question Id : 4509387336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In which of the following sets allotropes of carbon are correctly matched with their uses?
1. graphite — crucibles
1. activated charcoal — water filters
il carbon black - fuel

The correct answer 15

1806 2 HDHOS SR ErarossTren ¢ GHTITOS O BSTohRFW?
A (AR VARGV
i 5886 S-S Db e
i, 5PN aDR - BOGN0
O ARTPTFN0
Options :
i, iii only

i, iii o307 €530

1. %

11. 111 only

ii, iii 7753
2. % =

i, ii. i

1. ii. i
3. %

1. 11 only

i, i o377 €53
4, -

Question Number : 137 Question Id : 4509387337 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Which of the following is/are estimated by titrating polluted water with potassium dichromate

solution m acidic medum?

&30 Q¥ Senaach AR SPErRaNO FETEN [0S 0SS0 B
806 BA/EE ATOTE?

COD | BOD | DO
I I |1
Options :
I only
I 3075
1. i}
IT only
I 33768330
2. % )

II & III only
I & II1 307 €5 530

LILII

Question Number : 138 Question Id : 4509387338 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0



The number of isomers possible for a dibromo derivate (Molecular weight = 186 ) of an alkene
15 (Br=80u)

2,8 30 &) B S €569 )09) 0 (@9E02PG0 = 186 1) 50 350 RFGFO
A0S (Br=80u)

Options:

Question Number : 139 Question Id : 4509387339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In Kolbe's electrolysis of sodium propanoate. products formed at anode and cathode are

respectively

SFAOHO 1T TDED §) Dekose D% HOTRSIHD, 8SG AN

$HEO IO DG &I ST

Options :

C2Hs. H2
1. ®

C3Hs. Ho



CsHio. Hp

H2. CaHip

Question Number : 140 Question Id : 4509387340 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Zinc oxide (white) is heated to high temperature for some time.
Observe the following statement regarding above process
. Zinc oxide colour changes to pale yellow
II. The type of defect formed is ‘metal deficiency”
III. Some Zn’* and e are present in inferstitial places

The correct statements are
205 65)& (Be) A 50 SO0 2t @HE Gaf| e 5O IATID.
2 (DEADHE 020N 1808 5§D HOFO0I0E
L 208 &3)% Goth Bed e slrded
L 8BS SN0 BESW ‘S oS D0”
ML §Q) Zn® HB05M e €0 @er)0ST e (NBFTOS G0Lron

QB I FDIEN

Options :

I. IT only

I. I 30| €530
1. %

2.



L. IIT only
I III o53°( €5 ad

IL. III only

IL, 1T 30765330
3. %

ILII. 111

Question Number : 141 Question Id : 4509387341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Benzoic acid undergoes dimerization in benzene. x g of benzoic acid (molar mass 122 g mol ™) is

dissolved in 49 g of benzene. The depression in freezing point is 1.12 K. If degree of association

of acid is 88 %. what is the value of x7 (K for benzene = 4.9 K kg mol™)

B0AS S BoSowS B0 BehBESea08 SHH08. 1 g © BoSows )
(FrerD (963509 122 g mol™) 49 g © F0AS &S EBROTTED. sNRBIITR Do) b
LI2K. €000 G308} SeTLi68 7650 88 % oM x e 0eh?

(23028 0308 K; = 49K kg mol™)

Options :

2.44
1.+

1.22
2. %

3.66



4.88

Question Number : 142 Question Id : 4509387342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At T(K) two liquids A and B form an ideal solution. The vapour pressures of pure liquids A and B

at that temperature are 400 and 600 mm Hg respectively. If the mole fraction of liquid B 15 0.3 in

the mixture, the mole fractions of A and B i vapour phase respectively are

T(K) 56 A 005 B @) B0 (a6 28 e¢36) ([T Bron. &8 dal|/feh
G DG (BaTen A HBAM B © 2FANAETEN HEIT 400 B0 600 mm He.

N0 (5550 B BE), 6 23110 03 ©ONS, e PSR AHBN B O FrS

2T DT
Options :
0.391, 0.609

1. %

0.509,0.491
2. ®

0.609. 0.391
3.

0.491, 0.509
4, %

Question Number : 143 Question Id : 4509387343 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In which of the following Galvanic cells emf 1s maximum?
(Given: Ey 2+ = —2.36 Vand EQ o = +1.36 V)
508 e 505 DEFOS, & NEFDSE emf 18007

(B0 )OO Epa4jpyyg = —2.36 V 0O EQ 10~ = +1.36 V)

Options :

Mg | Mg?t(1 M) || 2C17(1 M)| Cl, (1 atm), Pt

1. %

- Mg | Mg2*(0.01 M) || 2C1~(1 M)| Cl, (1 atm), Pt
. Mg | Mg?* (1 M) || 2€17(0.01 M)| Cl, (1 atm), Pt
., MM (0.010) || 217 (0.01 M) Cl; (1 atm), Pt

Question Number : 144 Question Id : 4509387344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Isomerisation of gaseous cyclobutene to butadiene is a first order reaction. At T(K). the rate

constant of the reaction is 3.3 X 10™*s™%. What is the time required (in min) to complete 90 % of

this reaction at the same temperature? (log2 = 0.3)

OS2, ArsErEE M wrsyRsEtea0 Towo a8 [NE (§ro8 K965,
T(K) 96 &8 2363550 00 907080 33 x 1074572 A &ogf|19d 9 88 585 90 % a0
9708 DY 00 (min ) 0?7 (log2 = 0.3)



Options :

1« 116.67

233.34
2. %

58.34
3. %

350.0
4. %

Question Number : 145 Question Id : 4509387345 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match List-I with List-II

List-I

(Reaction)

List-IT

(Enzyme)

Hydrolysis of starch to maltose

I | Diastase

IT | Pepsin

A
B | Conversion of proteins to peptides
C

Hydrolysis of sucrose to glucose and fructose

III | Invertase

D | Glucose to ethanol IV | Zymase
The correct answer 18
ORI ORI & 25T
I ORI
@83) (DOBE)
A|3rB) 2 SrSE T 2O I | goird
B [ (95630 &b B 0T Sth )8 T | 20
C | B2 o P82 D05 (9525 e Zeddae | I | 310536
D| ({8 ok adSS IV | 3ahe
DB 22

Options:

A-III, B-II, C-I, D-IV

A-L
2. %

B-IlI. C-II. D-IV

A-IV, B-lI, C-II, D-1

3. %

A-T,

4. &

B-II, C-III, D-IV




Question Number : 146 Question Id : 4509387346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The following data 1s obtained for coagulating a positively charged sol in 2 hours

2,8 e )8 O o 2 1oL S 93,0865 mOTHEK 020603 (§0d ET 050

RYAIAleA)

Cone. of CI” inmol L™ Result
5% 107 Sol not precipitated (WO P:‘JJ):JSA&’JO EAOAIAY)
6x107° Sol not precipitated (@"5 @JJ}&E{}O 505@@)
TX 107 Sol precipitated ('O @433 0 TOHOE)
8x107° Sol precipitated ('O @435 0 BOHOE)
1x 107 Sol precipitated ('O @55 0 TOHOE)

What 1s the coagulating value of electrolyte for this sol?

&rS &, 8|5 BE T8 550658 DN Jodh?

Options :

7 X 1073
1. ®
7 X 1072

5% 1072

9 x 102



Question Number : 147 Question Id : 4509387347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
In which of the following metals extraction. impurities are removed as slag?
1. Al i1. Fe 1. Cu iv. Zn
The correct option 1s
806 & S50 A3 3606T, HOTEN S FDOOTP SHTI A aN?
1, Al 1. Fe i, Cu iv. Zn
BG[OVINENINEANO

Options :

. i1 1v only

[

i, ii, Iv o307 €5

1. %

1. 11 only

i, 11 o33°(€H 330
2. %

i1. 11 only

i, 11l o775
3. ¢ g

i1. 1i1. 1v only

ii, i, iv o30°(€H 3D

Question Number : 148 Question Id : 4509387348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two of the products formed by the reaction of ‘X’ with HCI are gases. What 1s ‘X*?

HCI S X 5985 S D) (8052708 BO ar0Hs)en. X’ @98 d&?
Options :

NaNO,
1.

Na,5

C33P2

NHESOE

Question Number : 149 Question Id : 4509387349 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct order of oxidizing power of the given ions 1s

2950305 0SS © 38315569 P50 TBEY BT (800

Options:

VoI < Cr,02~ < MnOj
1.4

VO < MnO; < Cr,0%"

MnO; < Cr,0%" < VO3



Ci,02 < Vo) « Miog
4, ®

Question Number : 150 Question Id : 4509387350 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the complexes in list-I with their hybridization mn list-II

OISR N0FTFOD OY IS are3 Ty, DoE0E808 ¢S

List-I List-IT
Complex Hybridization
Q0P a0 205088620
I Ni(C0), |A spd?
I [Ni(CN),]*~ | B d?sp?
I |[Co(NH3)¢]** | C dsp?
I\Y [CoF]*~ |D sp

Options :

I-C, II-D, II-A. IV-B

1. %

I-D, I-C. II-A, IV-B
2. %

I-D, II-C, II-B, IV-A
3.¢

I-C., II-D, 1II-B, IV-A



Question Number : 151 Question Id : 4509387351 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Match the following

List-I (Polymers) List-II (Type)
A | Buna-N-Rubber I | Fibre
B | Terylene I | Thermosetting polymer
C | Polystyrene I | Elastomer
D | Urea-Formaldehyde resin | IV | Thermoplastic polymer
180¢ A 52603 PO ©cd BSNETIO
AL A
A | 20 N-G23)H [ |
B |80 I | &9t rOG
C |>rOROS I | dergfdd
D | OWr8aSr-aron0) 3G 02 | IV | 638 S Jrdeb
Options :
A -TILL B-L B W D-1II
1.4
A -TI1L B -1V, C =l D-1I
2. %
A-T B -1II. C - III. D-1IV
3. %
A-TV. B - IIL. C -1IL. D-1




Question Number : 152 Question Id : 4509387352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is not an essential amino acid?
1808 FAS” DA €85F58 DS’ €365 5°¢H?
Options :
Lysine

BTN

[N

Histidine

VAES

gér,:-

Glutamine

(DD

Methionine

MOT IS

Question Number : 153 Question Id : 4509387353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following 1s NOT a disaccharide?

1808 S DO BFEDEH 5707

Options :



SE-T
Fructose
D5

2.v
Maltose
NOr

3. ® )
Lactose
er§eS

4, %

Question Number : 154 Question Id : 4509387354 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following molecules contain sulphur atom in their structures

. Morphine

II. Heroin

[II. Penicillin

IV. Terpineol

V. Cimetidine

808 TS & @Y TBVE, DTS D)8 DESTENS) HOEVOE?
L r8)R

I 3°0°0NR

M. DAV
V. B8)NArO
V. 308G

Options :

LBV
1. %

II. IIT

1. V

IV, V

Question Number : 155 Question Id : 4509387355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Wurtz-Fitting reaction a compound X reacts with alkyl halide. What 1s X?

&R -80 5055 X @6 8850 88,6 FBES 58550608, X ©HSE
NI,

Options :

1. %

: ¥ o)
2.

: _OH
3. %

: _NO,
4. %

Question Number : 156 Question Id : 4509387356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The product (C) in the following reaction sequence is

B0 075 EN0CS 565530 (C)

/O/\ Br, aq. KOH
e
Br

Options :

OH

ST

1. #
OH
HO/O/J\
2. ®
/O/\\\CHQ
Br
3. #

4. &



OH

Br

Question Number : 157 Question Id : 4509387357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An organic compound (X) has an empirical formula C4HgO. This gives a pale yellow precipitate

with 1odine in NaOH solution. What 1s X ?
2,8 5609 G (X) ©0d2rE arher CiHs0. 36 NaOH T80 9RraS &
Dea) B0 853 A IS, X 903 aE?

Options :

CH3 CH: CH> CHO

CH;= CH CH(OH) CH;3

e
.y CH3—C—O—CHy
CH; CH> O CH = CH>
4, %

Question Number : 158 Question Id : 4509387358 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Arrange the following in the correct order of their acidic strength

808 ¢3Q. 57¢3 36 2670 HBTS |Z00ES 95585 o0

OH

OH OH OH
ox:

i SN
= | J B rﬁ
S = . =
N NO3 j/

I I i \Y

Options :

M>IV>I>1I

1. %

IV>II>1>1I
2. ¢

I>1>M>IV
3. %

I>IV>MI>1I
4, ®

Question Number : 159 Question Id : 4509387359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What i1s ‘Y’ in the given reaction sequence?

(1) oleum Conc. HNO;

> X > Y
(1) NaOH

(iii) H™

1BOB 078 15600 Y @05 E?

(i) .O%0 ¢ HNO;
() NaOH = = 2
(iii) H"

Options:

OH
@Nﬂz
1. %
OH
O,N \©/NDZ
2. %
OH
NO
3, % 2
OH
O,N © NO,
NO,
4.



Question Number : 160 Question Id : 4509387360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Identify B in the given reaction sequence
CN
MgBr

ether H;0"

808 o850 B & HBothesn

CN

MgBr

Options :

/
/

\
/
Q



N,DH

/

L

®



